HI\X=DIEE|E e = -

(B o (3HE)

(SPHAEETELR) ‘ Fa 1000 15000 5499 5950 | 3000

=2,800 | =2,800 4450 | 3100

Emme 1,400 2,090 | 2,150 | 2,400 2,800 1,600

J:BT &pie 690 750 1,050 1,600 3,000
TG 7Vl - 5 [#EEH BHEE®E 1440 | 1,550 | 2,290 | 3,690
" > v BVIN A DFZig g FER 1350 2,060 3,750
> (DAL — ) FEA 750 4,000
X i (LEMTE) BENEE  ThRERT TORBT| 4,400
F [\ &Ll BC
70
2 O=20=20=0=0) 1=
EF@:E i}i%:aﬁ S + SLET + S s + s J )l/tj)(L%ﬁ.%qu%Fﬁ
E im /m?] RE < bfuﬁﬁﬁ; [ bht@iﬁu S bf‘utj{% . .
« A BRI 0263-92-2511(6:00~20:00)
_tBT
\ : : AEH xpadsr
\'lﬂ mﬁ}\x@*ﬂg  m=
© > 8% (B4 ! ng = g
X g (LTS BEgER
+ \ HBABT,

R O el
& D REESR RE  COAZERT SORTEEN ohexE(|  Be HBAR BR
< ESHAEBTER >

R T APITTTRE
BRNR(SUZIA)DREE | = .
LR > 1§ ({BTFE) -t
=3 (BILBCITE) )
= ‘ @ @ FB4BT *’A
f—=0=0= ===
BC % REER ) RE  SDMDERE COAPEMN DRt e BT
< ShA LB >




